Unit 1 English-Chinese Translation Techniques

Lesson 1 Morphology in English-Chinese Translation

1. Differences between English and Chinese

English is a tree-like sentence structure language. An English sentence has a trunk
bringing forth all the branches. The complexity of a sentence does not affect its trunk.

Example 1. The use of heat pumps has been held back largely by skepticism about
advertiser’s claims that heat pumps can provide as many as two units of thermal energy for
each unit of electrical energy used, thus apparently contradicting the principle of energy
conservation,

PEIC: PSR A S B BRAS Bt T 2 8 0T B E A AR — A AL HL RE AT LA
FEAEPIABAAL A A RE X D ULk PR BE S BE T 5 RS 1Y o PR DAy 3k S R[] B B~ 1B L A 7 i

Example 2. The computer performs a supervisory function in the liquid-level control system
by analyzing the process conditions against desired performance criteria and determining the
changes in process variables to achieve optimum operation.

PESC TR R R G . T B HITE —F ISR ThEE . B ARYE 45 0€ iR TR Aok 231 &
PR I e A RS i 1 S ASRAS S R

Example 3. There is no more difference, but there is just the same kind of difference,
between the mental operations of a man of science and those of an ordinary person, as there is
between the operations and methods of a baker or of a butcher weighing out his goods in
common scales, and the operations of a chemist in performing a difficult and complex analysis
by means of his balance and finely graded weights.

PEC: CRBMTAERBIEZN FHIFA G5 i #5385 ) 8% o i) 22 01 i 55 1) 3 T
£ T BSB89 127 58 T R P FIRS B A R4 T DRI X B2 2% A4 20 e 22 ) ) 2531

A Chinese sentence has a bamboo-like structure with different sections linking one
another, each one expressing a relatively complete semantic meaning independently.

Example 4. “ZEH 25K, B4, IR JUHER K.

English grammar is expressed by conjunctions, relative pronouns and morphological
changes. In Chinese, a variety of grammatical relations are implied in the context such as
active and passive, tense.

Example 5. FLIHRHZE T, 1 thought you had gone home.

Example 6. TAEf#5¢ T . The work has been finished.

2. Methods in English-Chinese translation

As a general criterion of translation, the translators should not add or reduce text content
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at will. However, due to the big difference between English and Chinese, it is difficult to find
corresponding word in the new text during the actual translation process. Therefore, in order
to accurately express the original information, the translators often need to do some addition
or subtraction of translation. So some people think, a good translation is generally slightly
longer than the original — because the original author and the SL readers rarely have the
language and cultural barriers, but the TL reader does not have such convenience, so
translators often need to add the content implied in the original for the TL reader to

understand easily.

1) Amplification in English-Chinese translation

Amplification in English-Chinese Translation is mainly for the consideration of Chinese
expression, which includes amplification of words omitted from the original and adding the
necessary connectives, quantifiers, or plural concept, or for the considered of rhetorical
coherence, so that translation can conform to Chinese idiomatic expression.

(1) Amplification by supplying words omitted in the original

Example 7. Matter can be changed into energy, and energy into matter.

PESC: Wi T LARE AR R BE » BEARL W] LAFERE Wt

Example 8. The best conductor has the least resistance and the poorest the greatest.

PR B A B s e 25 1) SR L BHROR

Example 9. A proton has a positive charge and an electron a negative charge, but a
neutron has neither.

PESC: Bt IR L S T FEEAR R ERB B AT B,

(2) Amplification by supplying necessary connectives

Example 10. Heated, water will change into vapor.

PESC K IASE I wh AL

Example 11. However carefully boiler casings and steam pipes are sealed, some heat
escapes and is lost.

PR ANE R S ARE H IR 2 475 BB A — A A ORI A

Example 12. Since air has weight, it exerts force on any object immersed in it.

PEOC: O A A R, BT R TE 2 P AR AT I AR 22 32 B s RIE T )

Example 13. The pointer of ampere meter moves from zero to five and goes back to two.

FEOC ZEIGRTRE SR 0 B2 5, 8l X Il %) 2,

(3) Amplification by supplying words to convey the concept of plurality

Example 14. Note that the words “velocity” and “speed” require explanation.

PRI TR AR X A T AR

Example 15. He stretched his legs which were scattered with scars.

PESC At ) SRR L 8 AR E R EE R

Example 16. The mountains began to throw their long blue shadows over the valley.

PESCAFILTFAG 1] L A4 T — T T R 8 04K 32

(4) Amplification by supplying words to make an abstract concept clear



Example 17. Oxidation will make iron and steel rusty.

PR EWAER SRS,

Example 18. This lack of resistance in very cold metals may become useful in electronic
computers.

PESC X PR TEELIGIR 4 Jm & B R BR R IR & v] REXT LTI EAHLR A AL,

Example 19. After all preparations were made, the plane took off.

VRS — VIS TR UG, WL T,

(5) Amplification by logical thinking

Example 20. Air pressure decreases with altitude.

PESC AR BT 3 IR T T B

Example 21. 1 was taught that two sides of a triangle were greater than the third.

PR At M a2 FOR TR =

Example 22, This shows that the resistance of an electric conductor is inversely propor-
tional to its cross-section area.

PESC X R W] AR H BB RN AR BT AR B KNS T

(6) Amplification by supplying words of generalization

Example 23. According to scientists, it takes nature 500 years to create an inch of
topsoil.

PESCAREREA ZA T EE . B AT 500 £ R A BEIE B — 351 IR R 2 T

Example 24. The thesis summed up the new achievements made in electronic computers,
artificial satellites and rockets.

PESCAZIS SRS T B B pL s TR ALK = 7 8 AT Ok«

Example 25. The principal functions that may be performed by vacuum tubes are
rectification, amplification, oscillation, modulation, and detection.

PEOC: B I B R F RN RE R ORIk IR Tl A AG:8

(7) Amplification by necessary repetition

Example 26. Avoid using this computer in extreme cold, heat, dust or humidity.

PESC A3 A R E GRS R RSO A AT AL

Example 27. 1 had experienced oxygen and/or engine trouble,

PEOC TR 2B BRSO AT B R L 2 5 | 5 BB, B P

(8) Amplification by necessary modification

Example 28. They could sense her (Titanic) mass, her eerie quiet and ruined splendor of a
lost age.

PECATIAS R (FHE w5 BREMEX, BRZEERABMAIRIRE, SRS ES A8
M TERRE R =W o

2) Omission in English-Chinese translation

In general, Chinese is more concise than English. In English-Chinese translation, if many
indispensable words in the original are translated into Chinese word for word, they will

become unnecessary verbiage. Translation would seem rather cumbersome. Therefore
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omission is widely used in English-Chinese translation. Its main purpose is to delete some of
the dispensable, unsuitable words for idiomatic expressions, such as omission of the substantives as
pronouns, verbs and functional words as articles, prepositions, conjunctions, etc.

(1) Omission of the pronoun

Pronouns are more frequently used in English than in Chinese. Therefore, when
translated into Chinese, many English pronouns may be omitted so as to conform the rendering
to the accustomed usage of Chinese expression.

Example 29. Different metals differ in their conductivity.

PECAN A8 R R 1) B AN R

Example 30. The current will blow the fuses when it reaches certain limit,

PESC: Y L IR B SRR I 23 el 22 5

(2) Omission of the article

The article is the hallmark of English nouns. When translated into Chinese, it is usually
omitted except when the indefinite article is intended to indicate the numeral “one”, or “a
certain”.

Example 31. The controlled output is the process quantity being controlled.

PEOC Wl ) R AR B R i R

Example 32. Any substance is made up of atoms whether it is a solid, a liquid, or a gas.

PESC AT T s ASTE A A R A R A 1 S A R

Example 33. The direction of a force can be represented by an arrow.

PESC: IR 5 1) T A Sk R

(3) Omission of the preposition

Chinese is characterized by its succinctness and the preposition appears less frequently in
Chinese than in English, and therefore omission of prepositions is a common practice in
English-Chinese translation.

Example 34. The difference between the two machines consists in power.

PESC X P B P a1 22 5IFE T U AN

Example 35. Hydrogen is the lightest element with an atomic weight of 1. 0008,

PO EUERERIIC R I8 1. 0008,

(4) Omission of the conjunction

Chinese is considered an analytic language and many conjunctions that are indispensable in
English may seem redundant in Chinese. Therefore, omission of the conjunction is a common
practice in English-Chinese translation.

Example 36. If I had known it, I would not have joined in it.

PESC: Rt A S T,

Example 37. Like charges repel each other while opposite charges attract.

VST [RIVE AT AR T o Sk A AR

(5) Omission of the verb

As Chinese is a language of parataxis, its grammar is not so strict as that of Engilsh, and



predicative verbs in Chinese sometimes may also be omitted.
Example 38. When the pressure gets low, the boiling point becomes low.
PRI AUEAR Wb AR
Example 39. Solids expand and contract as liquids and gases do.
PR AR ) WA AR — A [ R BEREZ K A S
Example 40. For this reason television signals have a short range.
PESC: PR B A T R I B AR
(6) Omission of the impersonal pronoun “it”
Example 41. This formula makes it easy to determine the wavelength of sounds.
PRI X — A A 5 P B o3 TR
Example 42. It was not until the middle of the 19th century that the blast furnace came

into use.
PESC. HLE 19 et mh A R A

3) Conversion in English-Chinese translation

(1) Conversion into verb

One of the most remarkable differences between English and Chinese syntax is the use of
the verb. It is taken for granted that an English sentence contains no more than one predicate
verb, while in Chinese it is not unusual to have clusters of verbs in a simple sentence. Take
the following sentence for example.

Example 43. Families upstairs have to carry pails to the hydrant downstairs for water.

PRI AETERE B AFAGRE KA EE T 1K Je kA 4TK

Four verbs are clustered in the Chinese version for an English simple sentence. This
indicates obviously that in English-Chinese translation the conversion of English words of
various parts of speech into Chinese verbs is a matter of common occurrence,

(D Nouns converted into verbs

Example 44. Rockets have found application for the exploration of the universe.

PR K HT R TFIRETH .

Example 45. The sight and sound of our jet planes filled me with special longing.

PR B BIFRA T mE AL, W DL RE 0 75 o FROO Bl p A

@ Prepositions converted into verbs

Example 46. A force is needed to move an object against inertia.

PEC A YA BRI M T iE 3l T AT

Example 47. Noise figure is minimized by a parameter amplifier.

P : R RS HOBORA n] R 8 18 K e 21 e 1K

@ Adjectives converted into verbs

Example 48. Both of the substances are soluble in water.

PEOC X PIF Y AR RER T K

Example 49. If low-cost power becomes available from nuclear power plants, the

electricity crisis would be solved.



PEC: AR BB A FL I R AT RAS v g i 2 i e v g Sk )L

@ Adverbs converted into verbs

Example 50. When the switch is off, the circuit is open and electricity doesn’ t go
through.

PESC: Y TFSCHT TR HL B AU T % B IR A BRI

Example 51. In this case the temperature in the furnace is up.

PEOC: X AMELL T iR S o

(2) Conversion into nouns

Nouns account for an overwhelming part of the vocabulary both in Chinese and in
English. Conversion between nouns and other parts of speech is also frequently adopted in
English-Chinese translation,

D Verbs converted into nouns

Some verbs that are derived from nouns can hardly be translated literally so they are
usually converted into nouns.

Example 52. Such materials are characterized by good insulation and high resistance to
wear.

PESC: X BEA B 4 R AL SR MR AT T B PR

Example 53. The design aims at automatic operation, easy regulation, simple main-
tenance and high productivity.

PESC W B RTE T B 30 TAE R 7 (38 e 3 f8i o A7 3

@ Adjectives converted into nouns

Adjectives with the definite articles to indicate categories of people, things, or adjectives
used as predicative to indicate the nature of things may also be converted into nouns.

Example 54. Both the compounds are acids, the former is strong, the latter weak.

PESC X MRS WS IR BT & SR IR . R & 2R .

Example 55. In the fission process the fission fragments are very radioactive,

VRS AR R R v, SR B 1R 2 B 1

Example 56. IPC is more reliable than common computer.

PESC: LA AT S 1 ol R e

(® Pronouns converted into nouns

English pronouns are more frequently used than Chinese pronouns. In order to make clear
what they really refer to, we sometimes have to convert them into nouns, i. e. , to repeat the
nouns that they stand for.

Example 57. Radio waves are similar to light waves except that their wavelength is much
greater.

FEOC: L AL IS LR R R BRI KR R Z .

Example 58. The specific resistance of iron is not so small as that of copper.

PO BR A LB AR B i 1 FE BE R BUIAE /b



Example 59. The result of this experiment is much better than those of previous ones.

PEOC: ARSI A R R LR SRR S RIS 2 .

Example 60. Experiment indicates that the new chip is about 2 times as integrative as that
of the old ones.

PEC: SR R WHT AL AR U SR I B i SRR 2 1.

(3) Conversion into adjectives

In English-Chinese translation there are some circumstances in which various other parts
of speech in English can be converted into Chinese adjectives.

@D Nouns converted into adjectives

Example 61. This experiment was a success.

PESC XA LI AR BT

@ Adverbs converted into adjectives

Example 62. Earthquakes are closely related to faulting.

PEOC 52 R W R BTG AR

Example 63. It is demonstrated that gases are perfectly elastic.

P ATEAIESE . SRR R TRk

Example 64. The pressure inside equals the pressure outside.

PEIC: I EREY ) FSMER B R T A4S

(4) Conversion into adverbs

Sometimes, for the sake of convenience, some parts of speech in English may be
converted into Chinese adverbs in English-Chinese translation.

Example 65. Below 4C, water is in continuous expansion instead of continuous con-
traction,

PESCIKTE 4 CLUR St A BRI . A 2 A B i

Example 66. Rapid evaporation at the heating-surface tends to make the steam wet.

PESC: IAATE E G R R AR UK ZE IR AR R,

Example 67. The same principles of low internal resistance also apply to milliammeters.

PESC RN PH A R B A T2 i3k

(5) Conversion of sentence elements

“active voice” into the

Conversion in a broader sense includes the conversion of the
“passive”. Sometimes, it may involve the change of various elements of a sentence, such as
from the subject to the object, and vice versa.

Example 68. As the match burns, heat and light are given off. (from the subject to the
object)

PESC: K SEIARER At e fndh . O\ FIEF| =)

Example 69. This sort of stone has a relative density of 2. 7. (from the object to the
subject)

PESC XML B E R 2. 7. OAEIER i)

Example 70. Care must be taken at all times to protect the instrument from dust and
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damp. (from the subject to the predicate)

PESC: N IR ZGE BRGNS . ONFIEFNETF)

Example 71. Fuzzy control is found a effective way to control the systems without precise
mathematic models.

PESC: AMNE I, B E AR A BRI R R A RO . (AR £330

4) Restructuring in English-Chinese translation

(1) Different sequences in customary word combinations

Every nation has its own unique ways of combining words, and so are the English and
Chinese,

Example 72. Phase: heart-warming, tough-minded., East China, north and south, east
and west, share the weal and woe, rain or shine, inconsistency of deeds with words, the iron
and steel industry, quick of eye and deft of hand, food, clothing, shelter and transportation,
you, he and I, back and forth, to and fro, every means possible.

PEOC TR B AR R IR E R AR R UL AR S AL TR IR T F AT A — BT
s PR AR AEAT AR FA L HTHT IS JS R L2 — VI RE T B

Example 73. Connect the black pigtail with the dog-house.

PECAE RO R E RS . GO

PESC R R 5| I R R SR L IR R i R . GEBD

Example 74. Outside it was pitch-dark and it was raining cats and dogs.

PESC A — i L R AL

(2) Different sequences in customary sentence arrangement

English sentences are generally bound by syntactical rules, and they are often arranged in
order of importance, while Chinese sentences are more flexible, and usually arranged
according to the sequence of time.

Example 75. Rocket research has confirmed a strange fact which had already been
suspected: there is a “high-temperature belt” in the atmosphere, with its center roughly thirty
miles above the ground.

PESC: AT M BE RS2 A — 4 iy D e M T 29 30 3 B @ iy st )y ]
KM G X —FRHNELER/E TIESE.

Example 76. We had been dismayed at home while reading of the natural calamities that
followed one another for three years after we left China in 1959,

PEOC AT 1959 BT T rp . t)E . i EES: AR B B AR RCE . IR TR R S F)
X7 T TS B BATE

(3) Adverbial clauses in a complex sentence

Adverbial clauses of condition, purpose, concession or cause, and so on in English may
stand either before or after a principal clause, however, when translated into Chinese, they
are normally placed before the principal clause.

Example 77. The government is determined to keep up the pressure whatever the cost it
will pay in the end.

8



PR NS R LB B A A KM BURERLO AR St ) .

Example 78. No matter how hard she tried, she failed at last.

P ANEMERSE N IR ERA .

(4) “That-" clause used as a judgment or conclusion

“That” clause is usually adopted in expressing a judgment or conclusion. When a “that”
clause which serves as the subject (of a sentence or a clause) is too long and consequently “it”
is simultaneously used as the “formal subject”, restructuring is often called for, so as to
conform to the Chinese usage.

Example 79. It is not surprising that, when humidity is low, the water evaporates rapidly
from the fruit.

PESCAE RSB EARIE LT KR AR oy 28 Lt X R B A F .

Example 80. It is common practice that electric wires are made from copper.

PESC: I A Y X 2 E A% .

Example 81. A few years ago it was thought unbelievable that the computer could have so
high speed as well so small volume.

PESCJUAERT AN R A TR AL RE HAT Q0 M iR A IS A Tl B AN A /N A B — LB R
S0

Lesson 2 Syntax in English-Chinese Translation

Due to extensive use of attributive clause, adverbial clause and a variety of phrases,
English sentences often have longer complex structures. In addition, because of the
differences between English and Chinese in the morphology, syntax, logical thinking and so

on, it is difficult to understand and translate long sentences.
1. Translation techniques

The tree-like sentence structure of English is converted into the Chinese bamboo-like
sentence structure: a long sentence is divided into pieces, so some necessary changes are
needed to make them relatively independent and complete. A few relatively independent
sentences are rearranged in accordance with Chinese custom, that is in the chronological
order, then in the logical order from the conditions to the results.

Example 1. The newly described languages were often so strikingly different from the
well studied languages of Europe and Southeast Asia that some scholars even accused Boas and
Sapir of fabricating their data.

PESC X SRR T 5 5 AT/ 98 RN 5 2R R 36 5 BOR AN R DL 2 7
FH# 15T Boas 15 Sapir Ihi BTk}

Example 2. No such limitation is placed on an AC motor; here the only requirement is
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relative motion, and since a stationary armature and a rotating field system have numerous
advantages, this arrangement is standard practice for all synchronous motor rated above a few
kilovolt-amperes.

PRI AU AL 323X A R M — P BRI AR X2 3 i L eh 3 ] F A W ek i 3 R 4t
BARZORE X R 2 i 2 e )L TR LA B[R]0 i HLR AR A o

Example 3. The resistance of any length of a conducting wire is easily measured by
finding the potential difference in volts between its ends when a known current is following.

PEOC: NS st e LI » RS0 S e 7 i LA 22 O ARAEL s I RBAR 25 5 A5 AT
JE LR HLBHAA .

(1) Attributive clause

When attributive clause is a short or restrictive attributive clause, in general, it will be
removed to the front and become a pre-modifier. When the attributive clause is longer, you
can restore the antecedent, so that the attributive clause will become an independent sentence.
In many cases, in accordance with the logic, in fact, the attributive clause is acted as
adverbial, which indicates condition or cause, then, it should be translated into an adverbial
clause.

Example 4. Each of its collectors placed on the roof consists of a shallow fibreglass tray
that holds a number of copper tubes under a special glass cover.

PEOC: B LT SR T R AR AR — MRIR B IS A i i N, L RS, ETHEA
HEHE.

Example 5. The failure to act could mean untold misery for future generations and perhaps
environmental disaster which threaten our very existence.

PESC AR RIAT BN e R R FAT T - PINE A SRexk LUE 25 1 o E A B R R T &£ 77
BRI GME .

Example 6. No one can be a great thinker who does not realize that as a thinker it is his
first duty to follow his intellect to whatever conclusions it may lead.

FOCIRIRERERIREEAREXRBEENIREEMNECHEEME RER WM. K4
PRAEAREC 5 KA AR 5K

Example 7. We must combat the medical-psychiatric model of human behavior that seeks a
drug for every psychological discomfort and under which a person who is not continuously calm,
anxiety-free, happy and content is define as a medical patient.

PESC: AT M AT A B AR B L EABAN B OB ERHAIKE
Mo XMHEXT ,EAFERELH . TULEB . EEMLEFEHABREAEE LHR
No CRARIXFMEAIEA G LAY o 0T R FRAR 1) R iy A )

Example 8. We are not conscious of the extent to which work provides the psychological
satisfaction that can make the difference between a full and an empty life,

P IANIANE AL KL F TR R RV E kB R, MM ERMNBBEFRRS
Bo OW TAEREAREM AR L BHF B )
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Example 9. This kind of two-electrodes tube consists of a tungsten filament, which gives
off electrons when it is heated, and a plate toward which the electrons migrate when the field is in
the right direction.

PEOC XM AR — AR 22 A — DR . 5L R A BT, B35 75 [ A IERT,
Bt

(2) Appositive clause

There is no appositive clause in Chinese, and therefore it is difficult to translate English
appositive clause into Chinese without any change. The general approach is to change words
like “belief” into the verb “believe”, and the appositive clause would become the object clause.

Example 10. This is due largely to the fact that many writers think, not before, but as they write,

FCRFEEH TESEEARESZAE, MEXE LA,

Example 11. Predictions that the phenomenon of globalization will result in a lowering of
human rights standards as the mobility of capital seeks out the markets least constrained by labor
and human rights standards to maximize the highest returns need not be the case.

PR A NN KU AR E S SHAAREREAR, B AR 30 % AR [ 5255 T AR #E
REZ/NHITIR AR IR K B (H SRR A 26 R

(3) Double negative

Typical translation; the affirmative structure

Example 12. Until humans use a spear to hunt game or a robot to produce machine parts,
neither is much more than a solid mass of matter,

PESC: MR AR LA AR s A PSR N B AR L IR A e R — Pk k.

Example 13. Few technological developments have had a greater impact on our lives than
the computer revolution.

PR X FAT A= T 5 M e K AR R 2 T LA A

Example 14. There are probably no questions we can think up that can’t be answered,
sooner or later, including even the matter of consciousness.

PESC: LR FRATTREAZ A8 2 Y 0] BIUR AR 25 B Al ok, L 2 A 4% Bl

Example 15. There is nothing that can be said by mathematical symbols and relations
which cannot also be said by words. The converse, however, is false. Much that can be and is
said by words cannot successfully be put into equations, because it is nonsense.

PESCATATRE IR A5 508 O R A R 9 AR v] LU R 5 08, FOd ok 24 . RZ 6
PV & RIB AN BB AL 7 A TR 3k 638 5 R oA B SO . GO & vh 78 1R 3E )

(4) Transferred negation

In English, “not” generally negates any part in its rear, that is termed negative trans-
ference.

Example 16. 1 did not have lunch in the restaurant.

PR AR 2 PR, (B

PR RIAEX BB TR . GER L BERRIZ R T )
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Example 17. The computer is not valuable because it is expensive.

FESC AL Dy HAA S SEm A Nl . (B0

PESCA AL s oA A M. GERD

Example 18. The engine didn’t stop because the fuel was finished.

PESC: ARG 1 BT DAG R B 1R TR . (55D

PESC: GV T AR Bl G 7 GER L B 7S /] BB A SR T o)

Example 19. These cultural conventions are no less confining simply because they cannot
be seen or touched.

PESC: A X B S AE IR B AL 3G T LA Z R EE T AT, (B

PESC XS BRI AFE AL . O M AT RS, GERfD

Example 20. The importance of computer in the use of automatic control can not be
overestimated.

PESCTHRANUE A shahn A RS EA R AT & . (BE DO

PESC AU B shE il N E B2 A S & . GED

(5) Inversion

Example 21. Not until these fundamental subjects were sufficiently advanced was it
possible to solve the main problems of flight mechanics.

PEOC: A X SO BL Rl B 58 00 MR e 5835 Z ) » A REAR IR KAT )2 i B )R

Example 22. Into this area of industry came millions of Europeans who made of it what
become know as the “melting pot”, the fusion of people from many nations into Americans.

PEIC A T3 WO TR A X — Tl DX 33 28 A (g o “ R ok BIR 2 H K N s
AT REA

(6) Object postposition

In general, the object in English follows the verb closely. However, if the object is
relatively long, the object complement or adverbial will be preposed and the object will be
postposed, which will be difficult for us to understand. But the solution is pretty simple, just
try to find out whether the verb is transitive. If it is a transitive verb, there must be an
object. If the object doesn’t follow the verb closely, try to locate it afterwards.

Example 23. Others do not try to widen their experience because they prefer the old and
familiar, seek from their affairs only further confirmation of the correctness of their own values.

PESC: AN RESR FEA AT 2250 PO AT TSE B TH A . 2GR APY » LU R SRt — 25
BT B C A BB TERR 1

(7) Nominalization structure

This is a special kind of noun phrase. The important noun has the meaning of action, and
therefore can be understood as a verb. Then the relationship between the following noun and
the action is confirmed as either the recipient or sender of the action, and the other parts can

be understood as adverbial.
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Example 24. Coal represents the chemical action of the sun on the green plants thousands
of years ago.

PESC BRI L TAERT RBRX Sk (A Y 1 1L 216 A .

Example 25. Coupled with the growing quantity of information is the development of
technologies which enable the storage and delivery of more information with greater speed to
more locations than has ever been possible before.

PESC: PR {5 S AN BT 0 2 X S H R I A JiE , S ZSAH G, BUAE AT D o R i) e i
BEMEEEZHNER.

Example 26. The second aspect is the application by all members of society from the
government official to the ordinary citizen, of the special methods of thought and action that
scientists use in their work.

PESC: ) R B A D7 T T A AL 23 B0 IAIBORE B 53 338 30 77 1k R 2548 AR AT 17E L
Ve BT R AR 5178l 7k .

Example 27. Continuous control readily lends itself to an understanding of feedback

control theory using relatively uncomplicated mathematics.

VS H T A0 I RN f] B, OB SR P AT B T IR MR R IR U 2 e .

(8) Partition structure

Two closely grammatically-related sentence elements are split by other sentence elements
to form a partition structure.

Example 28. Ice particles acquire a positive charge bouncing off the falling hail.

PESC: KBTI VKRL AR AT T IR

Example 29. The story has too many clues, due to that it is written in stream of
consciousness, to be understood.

PESC: XA/ T B PUR A TS UK, IR R R 2 AR .

Example 30. In the early industrialized countries of Europe the process of industrialization with
all the far-reaching changes in social patterns that followed was spread over nearly a century,
whereas nowadays a developing nation may undergo the same process in a decade or so.

PESC : RN IR 26 A5 L 52 B0 ML AR Y B 2 v IR b 465 T R 1) 2 95 4 iy A TR I 332 Wil 7 T
WAL BEHFEE T 100 4, W44 —4 & e b B R & 05 [ AR i i BRAR AT RE R T 10 4R 85 1
IR ra]

Example 31. Probably there is not one here who has not in the course of the day had occasion to
set in motion a complex train of reasoning, of the very same kind, though differing in degree, as that
which a scientific man goes through in tracing the causes of natural phenomena.

PESCARTT B A N KRR TG 2 — RN SR A 8% X P 8 i B SR R IR R A A
SRS PRI o feft 1 ) S o A b RS R AN [ (B B — R 1Y

(9 It clause
Example 32. It doesn’t come as a surprise to you to realize that it makes no difference
what you read or study if you can’t remember it.
PESC: ARARIC AT BT B A T2 AT 280 B 2200 X SRR B AN AT
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Example 33. Barnes suggested that it was as proper to term the plant a water structure as
to call a house composed mainly of brick a brick building.

P : Barnes B SGXFMEYIE 5 FR A ZKEEHE o TEANFE 3222 ph it A4 LR b - FRAERG TR RS —FF

Example 34. It is human, perhaps, to appreciate little that which we have and to long for
that which we have not, but it is a great pity that in the world of light the gift of sight is used
only as a mere convenience rather than as a means of adding fullness to life.

PESCAEAEA TR B EA AR, X2 N1, ARSI, G g it 5,
BT 1 G AR TV E— A A AR 78 52 A A= i 5 =X

Example 35. It is entirely reasonable for auditors to believe that scientists who know
exactly where they are going and how they will get there should not be distracted by the
necessity of keeping one eye on the cash register while the other eye is on the microscope.

PESC: H R BEAR B ZAE AT TR B 2 B 1, W RIE G el ik 25X A H AR B4 %
SRAES I RHIT A [R) I B9 48 22 Bl AN 2 Al A 1700 1 X EOR 2 5 Y

(10) More ... than ... structure
Notice; This sentence pattern is not comparative, but a contrast relationship is

”. The emphasis is put on the content

expressed. It can be translated into “not ... but ...
before “than”.

Example 36. The book seems to be more a dictionary than a grammar.

PO XA S H R ZIEL AR 2T,

(11) No more ... than... structure

Both of the words before and after “than” are negative, and it can be translated into
neither ... nor...

Example 37. 1 no more believe that ethics can be taught past the age of 16 than I believe in
the teaching of so-called creative writing.

P EARINANTE 16 & LUk feie = I e AT R AN A AR = A E s
PE—#¢.

(12) not so much ... as... structure

The sentence pattern denotes contrast that can be translated into “not ... but...”. The
emphasis is put on the content after “as”.

Example 38. The oceans do not so much divide the world as unite it.

PEOC: 5 E AR IE R BT B A 308 A T R i R

Example 39. Science moves forward, they say, not so much through the insights of great
men of genius as because of more ordinary things like improved techniques and tools.

PESCMATBOR 7 ] i & JE AR B H TR R R A B B A L, T2t T 5 AR 74 FanAs
Wk i AR AT,

Example 40. It is the admission of ignorance that leads to progress not so much because
the solving of a particular puzzle leads directly to a new piece of understanding as because the

puzzle if it interests enough scientists leads to work.
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FESC AN TCHIA REAE [0 HE A5 4 3K 2 UL 22 A Sy fifp DR A5 A 11 1 AT 80— oo 1) LA
TAE T X i L RE A 5 | B AR AT R IIE

(13) Elliptical sentence

Example 41. The breakthroughs would create as much danger as they would hope.

PEOC: X BE Bl S A TR A BB — e iR Sl . (R

PEOL : IX BL G A T SR A BB 1 (W] Nl R Sl . CIEAfD

Example 42. A whale is no more a fish than a horse is.

PR g AR WA RS, (B

PR A R B ARE— . GEFD

Example 43. Away from their profession, scientists are inherently no more honest or
ethical than other people.

PESC BRI Ll Z A0 s MASTBE E 358 Bh2 G AN S AN TE T A A5 A AN I 5 A
EE—FE, (GO

PESCAEAATI Ll 2 oh s WA B B 5O A L E B AR RS EREE. GEFD

Example 44. Certainly the humanist thinkers of the eighteenth and nineteenth centuries,
who are our ideological ancestors, thought that the goal of life was unfolding of a person’s
potentialities; what mattered to them was the person who is much, not the one who has much
or uses much,

PESC 18 el A 19 4t iy Nl 3= R FR AT PULE By Sem AT A4 1)
HARETT KIERE . MHBATRY, HE SRt AENA, MARMAESLOMERERAT
ZLME,

2. Exercise

Quantum mechanics is a highly successful theory: it supplies methods for accurately
calculating the results of diverse experiments, especially with minute particles. The
predictions of quantum mechanics, however, give only the probability of an event, not a
deterministic statement of whether or not the event will occur. Because of this probabilism,
Einstein remained strongly dissatisfied with the theory throughout his life, though he did not
maintain that quantum mechanics is wrong. Rather, he held that it is incomplete: in quantum
mechanics the motion of a particle must be described in term of probabilities, he argued, only
because some parameters that determine the motion have not been specified. If these
hypothetical “ hidden parameters” were known, a fully deterministic trajectory could be
defined. Significantly, this hidden-parameter quantum theory leads to experimental
predictions different from those of traditional quantum mechanics. Einstein’s ideas have been
tested by experiments performed since his death, and as most of these experiments support
traditional quantum mechanics, Einstein’s approach is almost certainly erroneous.

Echolocating bats emit sounds in patterns — characteristic of each species — that contain
both frequency-modulated (FM) and constant-frequency (CF) signals. The broadband FM
signals and the narrowband CF signals travel out to a target, reflect from it, and return to the
hunting bat. In this process of transmission and reflection, the sounds are changed, and the
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changes in the echoes enable the bat to perceive features of the target. The FM signals report
information about target characteristics that modify the timing and the fine frequency
structure, or spectrum, of echoes — for example, the target’s size, shape, texture, surface
structure, and direction in space. Because of their narrow band-width, CF signals portray only
the target’ s presence and, in the case of some bat species, its motion relative to the bat’s.
Responding to changes in the CF echo’s frequency, bats of some species correct in flight for

the direction and velocity of their moving prey.
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